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VT 743 FTHERGF -0.2 +0.2 +0. 2
5/ 12 411&18 B () = 4.00 4.20 3.86 4.20
#I% HRA° & B2 H RASAC 0.0 +1.2 +0.2 +1.2
6| 25 37 &R &eE() hE 4.08 4.18 4.15 4.18
W LE B HIRASAC +1.7 -0.4 +0. 4 -0.4
i 9 3b|EE Q) =o)=3] 3. 91 X 4.13 4.13
ity 3 R HIRASAC -1.1 +3.4 +3.4
8| 22| 4392|E%% LE®Q) R 3.91 4.00 4.10 4.10
91/ a7 RENEE & +0.9 0.0 -0.6 0.6
9] 16| 4690|f2A %= (3) =o)=3] 3.87 3.178 3.67 3.87
2048 74 FTHERTH +1.0 +0. 3 -0.1 +1.0
10 8| 4408|=%m HRE(2) =o)=3] 3.70 3.49 3.40 3.70
30 /7)) RIEHEER G +0. 1 +1.0 +1.9 +0. 1
11 5| 4678|1L:E FE (2) the 3. 44 3. 60 3.30 3. 60
9470 % FTHERTH +0. 8 +1.5 -0.1 +1.5
12 11] 4393|112 e = () =o)=3] 3.47 3.50 3.39 3.50
Y93 EPR RIEHEER S +2.1 +3.0 0.0 +3.0
13 4] AM3\MAR EZE () =o)=3] 3.34 3.22 2.39 3.34
9% TYh RIEHEER G +1.1 +1.6 +0.2 +1.1
14 14| 4677 T B {E#(2) =o)=3] X 3.00 3.21 3.21
YEY ¥ A3 FHERF +0.6 -0.5 -0.5
15 3| 4689/ #k #EE (3) g 3.09 X 2. 65 3.09
n vy %33 FHERGF +0. 1 +0. 1 +0. 1
16 7 4679|FkL £ (1) = 2.97 2.75 2.85 2.97
7YY H3 FHERF +0. 6 +0. 8 +1.4 +0. 6
17 1] 4680(#AK #E (1) = 2.83 2.59 2.37 2.83
WE #3 FHERTF +1.4 +0. 4 0.0 +1.4
18 2| 416K EBEF() = 2.69 2.65 2.63 2.69
YYEL IUh HIHEER G +1. 4 +1.6 +1.6 +1.4
19 6] 4402//h#k ER () g 2. 66 2.52 2.49 2. 66
vy It RIEHEE G +0. 4 0.0 +1.5 +0.4
10 146;8@ L& (2) k= X X X iR L
179 32 LHEMG
13| 4417\t BFA<TE() = Ri5
W3 /7 HIHEER G
15] 8770/=@ Bm (1) R RS
YA hE Eth RN A
19] 4410/ &&(2) g RiB
741D tf LSS
200 4184|&38 TE%x(2) = R 35
AN RV nt ZAAC
24| 4322\ B FFE Q) =a)=3] Ri5
SR ERH
26/ 4199 |tkAFH ZE Q) = Ri5
B3 4 Yy Z AAC




NEZF

RB 6 H3H | 9:00 |
EN5EE
/o
B | 38| o - K £ BiiEES -1- -2- -3- -4~ -5b- -6- Fox e
1 22 31| KF HBTEBG) IhNg 4.09 X X 4.09
HE) b4h 52 H RARAC +1.7 +1.7
14 30| FlE ZFEE (D) IhNg 3.55 3.85 3.76 3.85
ThY ¥ ¥avh B2 H RASAC +0.9 +2.5 +1.3 +2.5
30 11 26|di K #2E (5) IhNg 3.58 3. 41 3.60 3.60
3% 74 52 H RARAC +0.7 +1.5 +0.2 +0.2
4 2 111 K8 &HFEGB) IhNg 3.48 X X 3.48
Hhv 73 I3 JAC +2.5 +2.5
5/ 18 280EHA %*F (6) IhNg 3.45 3.23 3.23 3.45
49" F Tht B2 H RASAC +1.4 +1.3 +1.3 +1.4
6] 20 90 tZE £ 5) IhNg 3.09 3.14 3.38 3.38
YFY 1) EAN -4 +1.2 +0.8 +2.0 +2.0
70 17 1014k ZE (4) IhNg 3.13 3.06 3.24 3.24
¥ b4t EAN -4 +1.3 +1.3 +0. 4 +0. 4
8 19 209(lLA Ex(5) IhNg 2.92 X 3.06 3.06
7w F v ERAELEHE +2.2 +1.9 +1.9
9] 13 220 | 32E (4) Ihg 2.49 2.50 3.01 3.01
Y v 79 ERAELEHE +1.3 +3.6 +1.4 +1.4
10 9 2190k 2 (5) INE 2.96 2.93 2.98 2.98
Ak 434 ERAELEHE +1.4 +1.9 +2.3 +2.3
11 2 284 \%t & #kra (6) Ihg 2.97 2.84 2. 41 2.97
L33 %t JI3 N +2.2 +2.4 +1.5 +2.2
121 12 301|4:th =&k (6) INE 2.91 2.47 2.179 2.91
¥ 3% JIIA N +1.4 +1.6 +0.9 +1.4
13 5 205/h kK HAZEE (4) IhNg 2.61 2.47 2.66 2.66
n gy 1t ERAELEHE +2.0 +1.1 +1.3 +1.3
14 4 302/ H%| #A%& (6) Ihg 2.53 2.61 2. 41 2.61
7YY an JI[3A N +1.0 +1.7 +1.7 +1.7
15 3 195);&%Z %% (b) Iheg X 2.48 2.53 2.53
540 Yavt ERAELEHE +3.2 +1.7 +1.7
16 8 115/%E FE @) Iheg 2.30 2.53 X 2.53
¥ng b RPN +2.9 +1.8 +1.8
171 10 113 4gth #%nk (4) Ihg 2.23 X 2.48 2.48
w4 17 % BEF D +1.7 2.9 2.9
18] 15 116|458 i (6) Ihg X 2.47 X 2.47
¥ng 178 HEP N +2.4 +2.4
19 i 287|7xE =R (6) Iheg 2.40 X 2. 41 2.41
Tht 3V % JI3B N +1.7 +2.3 +2.3
20 6 114|5E €Y 7% @) Iheg X 2.36 2.34 2.36
by 4t RPN +2.0 +1.6 +2.0
21 16 267| &I Fif& (6) Ihg 2.28 X X 2.28
¥t Ut JI3 +2. 4 +2 4
1 269|18iR dHL>(6) IhEg R 1%
700 74 JIZ/
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) 6H3H 110:30 |
AR 2. 721kg)
R
e VIEY, LRERS ' ' ' '
b g ‘Yj;i\’Efﬁ[/ihwb\ © ;%;;'RA&AC 9.43 1 9.48 | 9.73 9.73
3 12 4686%3% JEEC;%@) j’;i%ﬁm 9.05 | 9.39 | 9.39 9.39
4 11 38 Eﬁfﬂ ;5%(3) ;‘;;}RA&AC 8.68 | 8.83 | 9.30 9.30
5/ 6 1483;3/%7%\@) j";%,%,q: 8.70 | 8.03 | 8.18 8.70
6/ 8 4676 ﬁivfgé? ié%’ﬁ* 8.57 | 8.53 | 8.09 8.57
o o gy Egpme T a0 b0 o
FhL5 33 5 5L o ' ' ' :
9/ 10 4597%5;@&(3) T;E%’—EP 7.13 | 6.47 | 7.06 7.13
M Sl L LT e
12 3 4416;£¥y£7{£§(1) i@i%ﬂqﬂ 5.12 4.99 5.27 5.27
WER T SR AR P ' ' ' :
NI/ 74 ZHAC
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A 2 (4. 000kg)
R
BB - & & | WA [ am [ 3 | A [ 6 [ 6 | HER | E
1) 1383 Ej*%ff 2) i*; ey 807 195 8.39 8.39
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R
IILE1?1L f&ﬁ fw;‘o—o - ’_i._Ej*e %4(56) - B4 —01— 38—21—7 —03— -4- | -5- | -6- 32&% &%
2| 15| 235 J%'Im\% gg(B) %gﬁiﬂi 36.23 x 0 36' 23
3/ 13| 239 l{g*‘? gf‘ﬁ%(@ fﬁgd\ 34. 35| 0 0 34' 35
Thhj 31 ke U : :
4 2 19 ki%}%%(@ %%’J‘ 0 129.53 | 0 29.53
(e R &
7| 10/ 371 %fg I‘\&T%(S) fﬁéb = ;) 0 |19 14 19'14
8 4/ 370 fr’?;ql\géﬁﬂz (5) Tﬂid\ 0 |18.49 6 18. 49
9 6] 369 g’gutltzi‘%(& Tﬁgh 18.30 ;) 0 18. 30
NeA 9 43 2 ' :
10 8] 368 5”53» %ﬁ% (5) %%;J\ 16.96 | 0 0 16. 96
B B INE
oo o e Lo 2" SRR 25
14) 3] 357 jg;ksglg% (4) fﬁgd\ 11.48 | 0 6 11.48
15 11 17 E:‘EFF gi‘E (6) &i\gmﬂii%@ 6 876! 0 3. 76
#hv5 v+ BRI : :




